Economics 101

Answers to Homework #2

1.  

a. An increase in the price of bottles will decrease the supply (shift from S1 to S2) of Coca-Cola, resulting in a higher equilibrium price and a lower equilibrium quantity.


[image: image1]
b. A decrease in the price of Pepsi (a substitute for Coca-Cola) will decrease the demand for Coca-Cola (shift from D1 to D2).  This will result in a lower equilibrium price and a lower equilibrium quantity.
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c. This government action will decrease the demand for Coca-Cola (shift from D1 to D2), resulting in a lower equilibrium price and a lower equilibrium quantity.
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2.  

a.  
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b. At a price of $60, people want to buy 2,200 cell phones.  Firms want to sell 680 cell phones.  Thus there is a shortage of 2200-680=1,520 cell phones.
c. The equilibrium is a quantity of 1,250 cell phones selling at a price of $91.67 each.  Consumer surplus equals (1/2)*(1250)*(133.33 - 91.67) = 26,041.7.  Producer surplus equals (1/2)*(1250)*(91.67 - 22.22) = 43,402.8.  
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d. An excise tax causes a shift in the supply curve (we can treat it as an increase in input costs for the firm, since they have to pay $5 more for each unit that they produce.  Thus the new supply curve is p=(qs+400)/18+5=qs/18+245/9.  The demand curve does not change, and the new equilibrium is at a price of 93.54 and a quantity of 1193.75.  The price tells us how much consumers have to pay.  Producers earn $5 less than the price per unit, because they have to pay the tax.  The government earns $5 on each of the 1193.75 units that are sold, earning a revenue of $5968.75.

3. 

a. The equilibrium price is $600 and the equilibrium quantity is 1,000.  
b. A price subsidy is equivalent to a rightward shift in the supply curve.  The new supply curve is p=(qs+200)/2-60=qs/2+40.  The new equilibrium is at a quantity of 1,100 and a price of $590.  
c. The government has to pay $60 for each unit that is produced, so this program costs the government $66,000.

4.

a. The equilibrium price is 66.67 and the equilibrium quantity is 16.67.  
b. At this price, the quantity demanded equals 20 and the quantity supplied equals 10.  Then there is a shortage of 10 apartments.  The total welfare (consumer plus producer surplus) in part (a) equaled 416.67.  After the price ceiling, the total welfare equals 350.  Thus the deadweight loss equals 66.67.
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